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200 Questions

Que. 1 Directions: Read the following information carefully and answer the questions.
Nine members in a family - A, B, C, D, E, F, G, H, X attended a party. B is the son of A and father of C.

C is married to H. D and E are parents of H. C has two children of opposite gender. X is the son-in-law of H. F is
the grand son of D who is the father-in-law of C.

If J is the brother of X, then how is J related to the daughter of C?

Correct Option - 4

Brother1.
Father2.
Husband3.
Brother-in-law4.
None of these5.

Que. 2 Who is the mother-in-law of C?

Correct Option - 2

D1.
E2.
G3.
X4.
Cannot be determined5.

Que. 3 How many females attended the party if C is a female?

Correct Option - 5

31.
42.
53.
24.
Cannot be determined5.

Que. 4 How many pairs of digits in the number 839456 have as many numbers between them as in the series of
natural numbers both in backward and forward directions?

One1.
Two2.
Three3.
More than three4.
None of these5.



Correct Option - 4

Que. 5 Direction: Nine boxes having a unique fruit or vegetable (apple, pear, orange, carrot, onion, ginger,
lemon, garlic, and potato) are placed vertically one above the other but not necessarily in the same order.

Gingers are kept on top and the onions are kept 1 place above the bottom box. Oranges are in the box that is kept
at the 4thposition from the top. There are only 4 boxes between apple box and potato box. Lemons and pear are
not kept at the bottom. Garlic box is kept 2nd above the pear box.
If potato box is not kept immediately below the ginger box then how many boxes are there between apple and
carrot box?

Correct Option - 3

21.
42.
63.
84.
35.

Que. 6 What is the position of lemon box?

Correct Option - 4

Immediately below orange box1.

6th from bottom2.

immediately above Potato box3.

6th from top.4.

immediately above Ginger box5.

Que. 7 Which box is kept between garlic and pear box?

Correct Option - 3

Ginger1.
Lemon2.
Orange3.
Carrot 4.
None of these5.

Que. 8 What is the position of Orange box?

Immediately above Apple.1.
6  from bottom2. th

Immediately below Pear.3.

5th from Top.4.

None of these5.



Correct Option - 2

Que. 9 How many boxes are there between box of Pear and box of Carrot?

Correct Option - 4

51.
42.
63.
34.
25.

Que. 10 Direction: Read the following information carefully and answer the question that follow:
A person starts walking from Point A and travels 75 km east to reach point B and then takes a left turn

and reaches point C after walking 15 km. From there He takes a left turn and walks 55 km and reach point D then
again takes a left turn and walk 15 km to reach point H. Then he moves in the same direction in which he was
facing and further walks 40 km to reach point E. He then turns in west direction and walks 40 km to reach point
F and at last, he takes a right turn and walks 40 km to reach point G. K is 40 km south of A.

What is the total distance between point G and point B?

Correct Option - 5

85 km1.
65 km2.
70 km3.
45 km4.
95 km5.

Que. 11 Four of the five are alike in a certain way and thus form a group. Find the one which is different from
the others.

Correct Option - 4

HK1.
CH2.
HF3.
EB4.
DA5.

Que. 12 At what distance and in which direction is D with respect to E?

45 km, North1.
35 km, North2.
15 km, North3.
55 km, North4.
None of the above5.



Correct Option - 4

Que. 13 In which direction is K with respect to B?

Correct Option - 3

South1.
North West2.
South West3.
North East4.
Cannot be determined5.

Que. 14
Directions: Study the following information carefully and answer the questions given below.

M4, L6, U4 is written as “tell your name”
E8, K8, R2 is written as “marks are obtained”
U4, E8, V4 is written as “give your number”
H4, E8, S10 is written as “she secured highest”.

“Tell your number” is coded as ____

Correct Option - 2

L6, V4, E101.
U4, E8, L62.
E8, V4, L43.
V4, E10, L64.
None of the above.5.

Que. 15 What is the code for “highest marks secured”?

Correct Option - 3

E8, K6, S121.
K8, E6, S102.
E8, K8, S103.
S8, K6, E84.
None of the above5.

Que. 16 Decode the sentence “All are intelligent”.

L2, R4, N121.
R4, L6, N102.
N8, L6, R83.
N14, R2, L44.



Correct Option - 4

None of these5.

Que. 17 “M4, N4, E8” is written as ____

Correct Option - 3

Name or Place1.
Number and Place2.
Name and Number3.
Place and Name4.
None of the above5.

Que. 18 Direction: Study the following information carefully and answer the question given below.
Fourteen people are sitting in two parallel rows containing seven people each. P, Q, R, S, T, U and V

are sitting in row – 1 facing north direction while A, B, C, D, E, F and G are sitting in row – 2 facing south
direction but not necessarily in the same order. Each person sitting in row -1 faces another person sitting in a row
– 2.
T is sitting third to the right of Q. P is facing the person who is a neighbour of F and B. U who is facing A is
sitting at one of the extreme ends. G, who is sitting third to the right of B is a neighbour of A. The number of
persons sitting between S and R is the same as the number of persons sitting between P and V. E is facing V. R
who is not facing C is sitting 2nd from the right end.
Who is facing S?

Correct Option - 1

F1.
G2.
A3.
E4.
None of these 5.

Que. 19 What is the position of D with respect to G?

Correct Option - 2

4th to the right1.
4th to the left2.
3rd to the left3.
3rd to the right4.
None of these5.

Que. 20 If all the people in row 1 sit in alphabetical order starting from left end then how many people sit at
their original place?

One1.
None2.



Correct Option - 5

Two3.
More than three4.
Three5.

Que. 21 Find the odd one out.

Correct Option - 4

GQ1.
BT2.
CP3.
RE4.
EV5.

Que. 22 Which of the following is incorrect?

Correct Option - 5

F is facing S1.
C is sitting 2nd to the right of D2.
S and T are neighbours of P.3.
P is sitting left of V.4.
All are correct5.

Que. 23 Direction: Study the following information carefully and answer the question given below.
Six persons A, B, C, D, E, and F are having different heights.

A is taller than B and C. E is taller than F and A but shorter than D. There are only two persons who are shorter
than F. 2nd tallest person has a height of 170cm. B is not the shortest person.
Who is the 2nd tallest person?

Correct Option - 2

D1.
E2.
F3.
A4.
None of these5.

Que. 24 What is the possible height of D?

155 cm1.
165 cm2.
145 cm3.
175 cm4.



Correct Option - 4

None of these5.

Que. 25 How many persons are there taller than A?

Correct Option - 1

Two1.
Three2.
Four3.
More than three4.
None5.

Que. 26 Directions: Study the following information to answer the given Questions:
Eight persons are sitting in a round table viz. P, Q, R, S, T, U, V, and W. All are facing inside the table.

They all have different ages viz. 8, 10, 15, 11, 12, 13, 23 and 25 but not necessarily in the same order.
T is sitting 2nd to the left of P whose age is an odd number. Q is sitting beside the one whose age is not a prime
number. There are two persons between R and Q. The person whose age is multiple of 5 is sitting opposite to
each other. V’s age is cubic number and sits immediate left of Q. S is not the immediate neighbour of T and Q. R
is to the immediate left of T. The sum of ages of W and T is 23. V sits 3rd to the right of T whose age is a prime
number. W’s age is the second youngest among all. U’s age is the square number and sits beside the person
whose age is a prime number. The sum of the age of R and V is 19. The age of S is 12. The person whose age 10
years is not a neighbor of T. The age of Q is less than the age of P.

Who is sitting opposite to P?

Correct Option - 4

T1.
Q2.
W3.
S4.
None of these5.

Que. 27 What is the age of T?

Correct Option - 2

81.
132.
153.
124.
195.

Que. 28 What is the position of Q with respect to U?

2nd to the right1.



Correct Option - 3

4th to the right2.
3rd to the right3.
Immediate to the right4.
None of the above5.

Que. 29  What is the sum of ages of P and R?

Correct Option - 4

321.
332.
353.
344.
375.

Que. 30 How many persons have age less than the age of S?

Correct Option - 3

One1.
Two2.
Three3.
More than three4.
None5.

Que. 31 Directions: Read the given information carefully and answer the questions below.
Ten people Amar, Sushila, Pavan, Vinit, Vinay, Priyana, Bindu, Avni, Jaya, Leela are staying in a ten-

storeyed building, lowermost floor is numbered 1 and topmost floor is numbered 10. Only one person lives on
each floor but not necessarily in the same order.
Pavan stays on an even-numbered floor but below the Amar’s floor. Only three floors are there between Vinit and
Pavan. Priyanka stays immediately below Leela’s floor but is not staying on the lowermost floor. Sushila lives on
an odd-numbered floor but not on 1 or 7. Jaya stays on one of the floors below Amar but immediately above
Sushila. Bindu stays on floor number 5 and three floors above Avni. Number of floors between Vinit and Amar is
one less than that of number of floors between Pavan and Jaya.

Who is staying between Amar and Priyanka?

Correct Option - 3

Vinit1.
Avni2.
Leela3.
Bindu4.
Sushila5.



Que. 32 On which of the following floor does Jaya live?

Correct Option - 3

11.
52.
43.
84.
65.

Que. 33 How many floors are there between Pavan and Bindu?

Correct Option - 1

None1.
One2.
Three3.
Four4.
Two5.

Que. 34 Who among the following is staying immediate above Amar?

Correct Option - 2

Jaya1.
Vinit2.
Leela3.
Vinay4.
None of these.5.

Que. 35 Which of the following statement(s) is/are true?

Correct Option - 5

Avni lives on second floor.1.
Jaya lives immediately above Sushila.2.
Only three floors are there between Leela and Jaya.3.
Vinay lives on an odd numbered floor.4.
All of the above.5.

Que. 36 Direction: Read the information carefully and answer the questions given below.
There are six persons in a society namely A, B, C, D, E and F traveling to different cities viz. Nashik,

Udaipur, Delhi, Raipur, Chennai, and Chandigarh on two different dates i.e. 7 and 20 of the months January,
April, and October but not necessarily in the same order. No two persons go on the same date of the month.
E goes to Nashik but not in January. Two persons who travel to Raipur and Chennai travel in the same month. E
travels in a month which has 30 days but not on the 20th. D goes to Delhi on January 20. The number of persons
who travel before those who travel to Chandigarh is equal to the number of persons who travel after those who



travel to Nashik. F travels in October. There are four persons between B and C traveling to different cities. C
does not travel to Udaipur. Neither A nor C travel to Raipur.

Who among the following goes to Raipur?

Correct Option - 4

C1.
A2.
B3.
F4.
E5.

Que. 37 On which date does A travel?

Correct Option - 2

7th October1.
20th April2.
7th January3.
20th October4.
7th April5.

Que. 38 Which of the following groups is correct?

Correct Option - 4

7 October - E - Raipur1.
20 April - B - Chandigarh2.
20 October - D - Chennai3.
7 January  - B - Udaipur4.
All are incorrect5.

Que. 39 Where does F travel?

Correct Option - 1

Raipur1.
Chennai2.
Udaipur3.
Chandigarh4.
Cannot be determined5.

Que. 40 Four of the five are alike in a certain way, thus form a group. Find the one which doesn’t belong to that
group.

B - Udaipur1.



Correct Option - 5

E - Nashik2.
F - Raipur3.
A - Chandigarh4.
C- Delhi5.

Que. 41 The speed of train A and train B is 93 km/hr and 51 km/hr, respectively. When both the trains are
running in the opposite direction, they cross each other in 18 seconds. The length of train B is half of

the length of train A. If train A crosses a bridge in 42 seconds, then find the length of the bridge.

Correct Option - 3

610 m1.
480 m2.
605 m3.
240 m4.
485 m5.

Que. 42 Directions: The following table shows the number of bananas sold by 5 fruit sellers and the relation of
apples with bananas in 3rd column. Read the table carefully and answer the following question.

Fruit Sellers Number of Bananas sold % relation of Apples with Bananas
A 200 20% more
B 300 15% more
C 250 20% less
D 360 25% more
E 400 30% less

Had Apples sold by A is only 10% more than bananas sold by A, then find the ratio of the total number of
bananas sold by B, C and E to the total number of apples sold by A, D and E.

Correct Option - 2

21 ∶ 191.
1 ∶ 12.
13 ∶ 153.
2 ∶ 34.
11 ∶ 155.

Que. 43 The total number of apples sold by B and D together is approximately what percent more than the
number of bananas sold by C and E together?

26%1.
19%2.
22%3.



Correct Option - 3

25%4.
27%5.

Que. 44 Find the average of the total number of apples sold by all the fruit sellers together.

Correct Option - 5

2891.
2972.
3093.
2934.
3035.

Que. 45 The total fruits sold by B is approximately what percent of the total fruits sold by D?

Correct Option - 3

75%1.
85%2.
80%3.
90%4.
72%5.

Que. 46 What is the ratio of the average of bananas sold by A, B and E together to the average of apples sold by
C and E together?

Correct Option - 2

4 ∶ 51.
5 ∶ 42.
15 ∶ 83.
10 ∶ 74.
5 ∶ 65.

Que. 47 A can complete a piece of work in 40 days and B is 30% more efficient than A. In how many days will
the work be completed, if both are working together?

Correct Option - 2

600/231.
400/232.
500/233.
380/234.
None of these5.



Que. 48 The total circumference of two circles C1 and C2 are 198 cm. If the radius of circle C2 is 25% more
than the radius of circle C1, then find the area of circle C1.

Correct Option - 3

612 cm21.

416 cm22.

616 cm23.

636 cm24.

438 cm25.

Que. 49 Given below are two quantities named A and B. Based on the given information, you have to determine
the relation between the two quantities. You should use the given data and your knowledge of

Mathematics to choose among the possible answers.

Quantity 1: (y – 1/3)2 = 25/36

Quantity 2: x2 – 3x/4 – 1/4 = 0

Correct Option - 5

Quantity 1 > Quantity 21.
Quantity 1 < Quantity 22.
Quantity 1 ≥ Quantity 23.
Quantity 1 ≤ Quantity 24.
Either Quantity 1 = Quantity 2 or no relation can be established.5.

Que. 50 Given below are two quantities named A and B. Based on the given information, you have to determine
the relation between the two quantities. You should use the given data and your knowledge of

Mathematics to choose among the possible answers.
Quantity 1: If the sum of the circumference and the radius of a circle is 102 cm then find the quantity of radius
of the same circle.
Quantity 2: If the perimeter of a rectangle is 42 cm and the length of the rectangle is twice the width then find
the length of the rectangle.

Correct Option - 5

Quantity 1 > Quantity 21.
Quantity 1 < Quantity 22.
Quantity 1 ≥ Quantity 23.
Quantity 1 ≤ Quantity 24.
Either Quantity 1 = Quantity 2 or no relation can be established.5.

Que. 51 Given below are two quantities named A and B. Based on the given information, you have to determine
the relation between the two quantities. You should use the given data and your knowledge of

Mathematics to choose among the possible answers.



There are two people A and B who bought a book at the same cost and they mark up the price by 25%.
Quantity 1: A sells the book after giving some discount, he bears no profit no loss on the transaction. Find the
discount percent.
Quantity 2: B gives the discount of Rs. 25 and the difference between the cost price and the discount is Rs.175,
find the profit percent of the whole transaction.

Correct Option - 1

Quantity 1 > Quantity 21.
Quantity 1 < Quantity 22.
Quantity 1 ≤ Quantity 23.
Quantity 1 ≥ Quantity 24.
Either Quantity 1 = Quantity 2 or no relation can be established.5.

Que. 52 Given below are two quantities named A and B. Based on the given information, you have to determine
the relation between the two quantities. You should use the given data and your knowledge of

Mathematics to choose among the possible answers.
Quantity 1: If the interest earned on some principal for one year is 16% of the principle. Find the rate of interest.
Quantity 2: If the compound interest for 2 years earned on the principle of Rs.1500 is Rs.315, find the rate of
interest.

Correct Option - 1

Quantity 1 > Quantity 21.
Quantity 1 < Quantity 22.
Quantity 1 ≤ Quantity 23.
Quantity 1 ≥ Quantity 24.
Either Quantity 1 = Quantity 2 or no relation can be established.5.

Que. 53 Given below are two algebraic equation named A and B. Based on the given information, you have to
determine the relation between the two quantities. You should use the given data and your knowledge

of Mathematics to choose among the possible answers.

Quantity A: x2 – 7x + 12 = 0

Quantity B: y2 – 13y + 42 = 0

Correct Option - 2

Quantity 1 > Quantity 21.
Quantity 1 < Quantity 22.
Quantity 1 ≤ Quantity 23.
Quantity 1 ≥ Quantity 24.
Either Quantity 1 = Quantity 2 or no relation can be established.5.

Que. 54 The ratio of milk and water in a mixture is 9 ∶ 2. If 110 litres of the mixture is removed then the
difference between the quantity of milk and water becomes 42 litres. Find the final quantity of the

mixture.



Correct Option - 2

60 litres1.
66 litres2.
64 litres3.
62 litres4.
68 litres5.

Que. 55 A, B and C invested Rs. 18000, Rs. 20000 and Rs. 24000, respectively, for 4 months. They further
invested Rs 2000 more for the next 4 months. If the profit share of A at the end of 8 months is Rs.

7600, then find the profit share of B and C together at the end of 8 months.

Correct Option - 1

Rs. 184001.
Rs. 168002.
Rs. 173003.
Rs. 192004.
Rs. 186005.

Que. 56 Direction∶  A vehicle manufacturing company sells three types of vehicles; 4 wheelers, 3 wheelers and
2 wheelers in two different sessions 2010-2012 and 2013-2015. In the first session, the ratio of 4

wheelers, 3 wheelers and 2 wheelers sold is 1 ∶ 2 ∶ 2.  Also, 3 wheelers sold in this session is 20% more than the
same type of wheelers sold in the second session. The total vehicles sold in session 2010-2012 is 12 lacs. The 4
wheelers sold in 2013-2015 is 20,000 more than the 2 wheelers sold in 2010-2012. The 2 wheelers sold in 2013-
15 are 12.5% more than that of sold in 2010-12.
The number of 3 wheelers sold during 2013-2015 is what percent of the number of 4 wheelers sold in the same
session?

Correct Option - 5

60%1.
40%2.
70%3.
65%4.
80%5.

Que. 57 If the ratio of the number of cars (4 wheelers)sold in session 2016-2018 to the number of cars sold in
2010-2012 is 7 ∶ 8, then calculate the approximate average cars sold in all three sessions.

Correct Option - 1

3.2 lacs1.
4.6 lacs2.
2.8 lacs3.
6.8 lacs4.
7.4 lacs5.



Que. 58 If in session 2010-2012, the production of 4 wheelers and 2 wheelers are 2.8 lacs and 5 lacs,
respectively, then find the ratio of unsold vehicles of the same type.

Correct Option - 2

3 ∶ 11.
2 ∶ 12.
5 ∶ 43.
4 ∶ 14.
None of these5.

Que. 59 If in session 2013-2015, the sale of 2 wheelers is only 52000 then find the ratio of the total sale in
session 2010-2012 to 2013-2015.

Correct Option - 2

111 ∶ 1191.
150 ∶ 1192.
120 : 1193.
113 : 1194.
115 ∶ 1195.

Que. 60 Find the ratio of the 3 wheelers sold in both sessions taken together to 2 wheelers sold  in both sessions
taken together.

Correct Option - 3

44 : 531.
21 : 432.
44 : 513.
71 : 774.
53 : 445.

Que. 61 A boat can travel 88.2 km downstream in 4 hrs 12 mins. The speed of the stream is 2.5 km/hr. If the
speed of stream reduces by 50% then find the distance travelled by boat upstream in 4 hrs?

Correct Option - 1

69 km1.
64 km2.
84 km3.
79 km4.
71 km5.

Que. 62 Direction∶  Read the below data carefully and answer the following question∶



In a game show, lucky draw was conducted. Every participant received a prize. There was ‘n’ number of people
who got consolation prizes. The value of each consolation prize is 10% of the prize money received by the
winner of the lucky draw. It is known that the total prize money of the people’s consolation prizes is equal to the
prize money of the winner.

Find the number of people in the lucky draw.

Correct Option - 2

121.
112.
143.
184.
95.

Que. 63 If the winner of the lucky draw gets 25% less than the original prize that he was promised to be given
and the amount that was saved from this was distributed to the rest of the people who participated in

the lucky draw. Find the ratio of the prize money of the winner now to the total money used as a consolation
prize.

Correct Option - 4

12 ∶ 71.
5 ∶ 82.
2 ∶ 93.
3 ∶ 54.
4 ∶ 95.

Que. 64 If the ratio of male to female in the total number of people is 4 ∶ 7. Find the total number of females in
the lucky draw.

Correct Option - 3

61.
52.
73.
84.
95.

Que. 65 In a given series of 13 numbers, in which all numbers are in ascending order, the average of this series
is 19. If the first number is 5 then what can be the maximum value of 13th number.

1231.
1312.
1113.
1214.
1135.



Correct Option - 4

Que. 66 Five years ago, A’s age is 3.2 times that of B’s and after 7 years, the ratio of their ages will be 20 ∶ 9.
Find the sum of their present age.

Correct Option - 2

631.
732.
673.
534.
795.

Que. 67 Directions∶  The following bar graph shows the number of pages in five different books (viz. A, B, C,
D and E). Study the graph carefully and answer the following questions.

After reading 1/5th of the pages of book E, how many pages remain unread?

Correct Option - 2

1501.
1602.
1803.
1204.
1405.

Que. 68 In book B, every even number page contains 75 words and the odd number pages contain 60 words. A
person read the first 43 pages and stop reading and, on another day, read the last 216 pages. Find how

many words remain unread.

26401.
27452.
26753.



Correct Option - 4

27754.
26805.

Que. 69 What is the ratio of total number of pages in book B and E together to the total number of pages in
book C and D together?

Correct Option - 3

30 ∶ 371.
15 ∶ 232.
25 ∶ 333.
10 ∶ 134.
28 ∶ 315.

Que. 70 If every page of book C contains 60 words and a person reads 1/4th of the book, then find how many
total words read by him.

Correct Option - 4

24001.
36002.
54003.
60004.
90005.

Que. 71 A person had read 1/3rd of the book A on the first day, 1/4th of the remaining on the second day. Find
how many pages remains unread on the second day.

Correct Option - 5

1601.
1402.
1203.
2404.
1805.

Que. 72 Tickets numbered 1 to 50 are mixed up and then a ticket is drawn at random. What is the probability
that the ticket drawn bears a number which is a multiple of 8?

1/71.
7/262.
3/253.
2/54.
3/55.



Correct Option - 3

Que. 73 Two persons A and B invest amounts ‘x’ and ‘x + 600’ in a business, respectively. The ratio of the
months for which they are investing their money is in the ratio 2 ∶ 3. If the profit of B is Rs. 2750 and

the total profit is Rs. 3850 then find the value of ‘x’.

Correct Option - 3

Rs. 10001.
Rs. 8002.
Rs. 9003.
Rs. 12004.
Rs. 6005.

Que. 74 A black pipe can empty a tank in 8 hours, while a red pipe can fill it in 3 hours. If the tank is initially
half-filled and the red pipe is opened in it, how many black pipes are required in total to be opened in it

to empty the tank in 12 hours?

Correct Option - 2

21.
32.
43.
54.
65.

Que. 75 Directions∶  The first pie chart shows the percentage of (Leather + Non-leather) shoes of different
brands A, B, C, D and E and the second pie chart shows the percentage of Leather shoes in a particular

brand. Read the chart carefully and answer the following questions.



Find the average of the total number of Non-leather shoes by B, C and D brands together.

Correct Option - 2

2231.
1532.
1633.
1674.
1575.

Que. 76 The total number of leather shoes of C, D and E brands together is what percent of the total number
of the Non-leather shoes of brands A and B together?

Correct Option - 4

66.66%1.
60%2.
70%3.
75%4.
65%5.

Que. 77 Find the ratio of total number of leather shoes of A and B brands together to the total number of Non-
leather shoes of C and E brands together.

Correct Option - 5

10 ∶ 1211.
5 ∶ 212.
13 ∶ 313.
22 ∶ 514.
2 ∶ 115.



Que. 78 The total number of Non-leather shoes of A and B brands together is what percent less than the total
number of shoes of D and E together?

Correct Option - 4

50%1.
40%2.
45%3.
60%4.
66.66%5.

Que. 79 Which of the following statement is true regarding the given pie chart?
A) The total number of Non-leather shoes of A, B and D brands together is 645.

B) The total number of Leather shoes of B and C brands together is approximately 28% less than the total
number of Non-leather shoes of the same brands.
C) The ratio of total number of Leather shoes of D and E together to the total number of Non-leather shoes of A
and C together is 12 ∶ 19.

Correct Option - 1

Only A and B1.
Only B and C2.
Only A and C3.
All are true4.
None of these5.

Que. 80 The sum of the age of A, B and C is 96 years and the sum of age of A and B is 60 years. If A is 4 years
older than C. Find the difference of age between B and C.

Correct Option - 1

161.
102.
83.
64.
45.

Que. 81 The Reserve Bank of India had set up an expert committee to review the current framework for the
Micro, Small & Medium Enterprises (MSME sector). Who among the following was the head of the

committee?

Shaktikanta Das 1.
UK Sinha 2.
Sudha Balakrishnan3.
Urjit Patel 4.
Mahesh Kumar Jain 5.



Correct Option - 2

Que. 82 Where is Tadoba National Park situated?

Correct Option - 4

Telangana1.
Himachal Pradesh2.
Rajasthan3.
 Maharashtra4.
Gujarat5.

Que. 83 World Tourism Day is observed on ________.

Correct Option - 1

27 September1.
20 September2.
10 September3.
5 September4.
21 September5.

Que. 84 Which of the following won the UEFA Super Cup in Istanbul in August 2019?

Correct Option - 2

Chelsea1.
Liverpool2.
Manchester United3.
Arsenal4.
Juventus5.

Que. 85  "Relentless: An Autobiography" is the autobiography of which famous personality?

Correct Option - 4

Shashi Tharoor1.
Amit Shah2.
Sonia Gandhi3.
Yashwant Sinha4.
Sushma Swaraj5.

Que. 86 With which country will India conduct Joint Military Exercise "Open Sunrise"?

Japan1.
China2.



Correct Option - 3

Myanmar3.
Kazakisthan4.
USA5.

Que. 87 In Tennis, who won the Wimbledon title in 2019?

Correct Option - 2

Roger Federer1.
Novak Djokovic2.
Rafael Nadal3.
Juan Martín del Potro4.
Andy Murray5.

Que. 88 Which mission was conducted by NASA to Fly Around Titan Looking for Origins, Signs of Life ?

Correct Option - 1

DRAGONFLY1.
BUTTERFLY2.
SPEEDFLY3.
CLUSTERFLY4.
HORSEFLY5.

Que. 89 Fugdi folk dance belongs to which state? 

Correct Option - 2

Assam1.
Goa2.
Odisha3.
Gujrat4.
Rajasthan5.

Que. 90 Who has been awarded the 2019 Ramon Magsaysay Award?

Correct Option - 2

Prannoy Roy1.
Ravish Kumar2.
Arnab Goswami3.
Sambit Patra4.
Vinod Dua5.



Que. 91 ________ is the 6th Indian to enter the ICC Hall of Fame.

Correct Option - 1

Sachin Tendulkar1.
Rahul Dravid2.
Sourav Ganguly3.
Harbhajan Singh4.
None of these5.

Que. 92 Recently, President Ram Nath Kovind has been awarded the National Order of Merit by which
country?

Correct Option - 1

Guinea1.
Congo2.
Nigeria3.
Kenya4.
Namibia5.

Que. 93 The 7th RCEP Ministerial Meeting, 16th ASEAN India Economic Ministers meeting and the 7th East
Asia Economic Ministers Summit was held in which country?

Correct Option - 3

Singapore1.
Indonesia2.
Thailand3.
Japan4.
Cambodia5.

Que. 94 The RBI has set up a working group to review the regulatory and supervisory framework for
(CICs).What CIC stands for ?

Correct Option - 1

Core investment companies 1.
Chief Information Commission2.
Chief Information Commissioners3.
Central Investigation Commission4.
None of the above.5.

Que. 95 Who is the Chairman of SEBI?

Rajnish Kumar1.
Subhash Chandra Khuntia2.



Correct Option - 4

Harsh Kumar Bhanwala3.
Madhabi Puri Buch4.
Ajay Tyagi5.

Que. 96 U.S. is celebrating Apollo 11 mission’s ________ year anniversary in July 2019.

Correct Option - 4

25th1.
30th2.
35th3.
50th4.
45th5.

Que. 97 Where is headquarter of Institute for Economics and Peace (IEP)?

Correct Option - 5

Switzerland1.
Germany2.
France3.
USA4.
Australia5.

Que. 98 Which institute was best-ranked Indian institute globally at 152nd position in QS World University
Rankings’ 2020?

Correct Option - 2

IIT Chennai1.
IIT Bombay2.
NIT Warangal3.
IISC Bangalore4.
JNU Delhi5.

Que. 99 MCLR Stands for:

Correct Option - 2

Maximum cost of funds based lending rate1.
Marginal cost of funds based lending rate2.
Minimum cost of funds based lending rate3.
Material cost of funds based lending rate4.
None of the above5.



Que. 100 Where is the Asian Development Bank (ADB) headquartered?

Correct Option - 2

Indonesia1.
Philippines2.
Japan3.
Malaysia4.
None of the above5.

Que. 101 In the recently formed new government, who among the following has been appointed as the Minister
of Information and Broadcasting?

Correct Option - 2

Dr. Harsh Vardhan 1.
Prakash Javedkar 2.
Dharmendra Pradhan3.
Giriraj Singh4.
Piyush Goyal 5.

Que. 102 The Motor Vehicles (Amendment) Bill, 2019 was introduced in Lok Sabha by road transport and
highways minister Nitin Gadkari. What is the amount fined for Drink and drive?

Correct Option - 2

Rs. 50001.
Rs. 100002.
Rs. 150003.
Rs. 120004.
Rs. 75005.

Que. 103 Which Indian state has launched the Kaleshwaram Lift Irrigation Scheme, world's biggest irrigation
project?

Correct Option - 1

Telangana 1.
Andhra Pradesh2.
Punjab3.
Haryana 4.
Rajasthan 5.

Que. 104 Which among the following books had been written by Barack Obama?

What happened1.



Correct Option - 2

The audacity of hope2.
Hard Choices3.
Living History4.
It takes a village5.

Que. 105 The University Grants Commission (UGC) has approved a new initiative STRIDE. What does 'D'
stand for in STRIDE?

Correct Option - 3

Dhan1.
Dharohar2.
Developing3.
Disciplinary4.
Development5.

Que. 106 Who has been appointed as the International Cricket Council's (ICC) first-ever female referee?

Correct Option - 2

Rajeshwari Gayakwad1.
GS Lakshmi2.
Pooja Vastrakar3.
Poonam Yadav4.
None of the above5.

Que. 107 Who has been elected as the chairman of Press Trust of India in September 2019?

Correct Option - 1

Vijay Kumar Chopra1.
Vineet Jain2.
Aveek Kumar Sarkar3.
Riyad Mathew4.
Mahendra Mohan Gupta5.

Que. 108 Recently the Ministry of Jal Shakti was constituted after dissolving the existing ministries related to
water resources. Who among the following has been appointed as the Minister of Jal Shakti?

Gajendra Singh Shekhawat 1.
Nitin Gadkari 2.
Ramesh Pokhriyal Nishank 3.
Pralhad Joshi 4.
Mahendra Nath Pandey5.



Correct Option - 1

Que. 109 National poet Maithali Sharan Gupt's Birth anniversary was celebrated on 3rd August, 2019, the
number of birth anniversary was_________.

Correct Option - 5

125th1.

126th2.

127th3.

128th4.

130th5.

Que. 110 FSSAI use which color to indicate high fat, sugar and salt contents in front of the package ?

Correct Option - 2

yellow1.
red2.
green3.
blue4.
white5.

Que. 111 Who is the author of "The Audacity of the Hope"?

Correct Option - 3

T.S. Eliot1.
John Steinbeck2.
Barack Obama3.
Ernest Hemingway4.
none of the above5.

Que. 112 Which of the following states tops the list for the best performing state in the NITI Aayog’s Health
Index, 2019?

Correct Option - 2

Punjab1.
Kerala2.
Tamil Nadu3.
Gujarat4.
Maharashtra5.

Que. 113



Captain Aarohi Pandit, a pilot from Mumbai became the world's first woman to cross the which Ocean solo in a
Light Sports Aircraft (LSA)?

Correct Option - 4

Arctic1.
Pacific2.
Indian3.
Atlantic4.
Southern Ocean5.

Que. 114 Hemis, the two-day religious festival is from which part of India?

Correct Option - 2

Assam1.
Ladakh2.
Himachal Pradesh3.
Goa4.
Nagaland5.

Que. 115 Where did the 11th BRICS Summit is going to be held?

Correct Option - 3

South Africa1.
India2.
Brazil3.
China4.
Russia5.

Que. 116 What is the theme of 5th International Yoga Day 2019?

Correct Option - 2

Climate Change1.
Climate Action2.
Yoga with Gurus3.
Yoga for peace4.
none of the above5.

Que. 117 Identify the foreigner who has been conferred the second highest civilian award in India, Padma
Vibhushan for 'exceptional and distinguished service' in 2019. 

John Chambers1.
Kader Khan 2.



Correct Option - 4

 Pravin Gordhan3.
 Ismail Omar Guelleh 4.
None of the above5.

Que. 118 What is the rank of India on the Global Peace Index 2019?

Correct Option - 2

1381.
1412.
1453.
1474.
1505.

Que. 119 Who among the following from India had attended key ministerial meetings of the regional forums of
ASEAN, Mekong Ganga Cooperation (MGC) and East Asia Summit?

Correct Option - 3

Ravi Prasad 1.
Harshvardhan2.
S Jaishankar3.
Narender Modi4.
None of the above5.

Que. 120 Rural Roads comes under _______ ministry.

Correct Option - 1

Ministry of Rural Development1.
Ministry of Road Transport and Highways2.
Ministry of Housing and Urban Affairs3.
Ministry of Tourism4.
None of the above 5.

Que. 121 In the given sentence, three words have been given in bold. These words may or may not be in
their correct positions. Read the sentence and choose the correct option.

A massive fire (A)stunning  Notre-Dame Cathedral on Monday, (B) consumed the roof of the Paris landmark
and (C) gutting France and the world.

ACB1.
CBA2.
BCA3.
CAB4.



Correct Option - 3

No Replacement Required5.

Que. 122 In the given sentence, three words have been given in bold. These words may or may not be in
their correct positions. Read the sentence and choose the correct option.

The EC is (A)ensure   with powers to (B)just  a free and (C)vested election.

Correct Option - 4

BAC1.
BCA2.
ACB3.
CAB4.
No Replacement Required5.

Que. 123  In the given sentence, three words have been given in bold. These words may or may not be in
their correct positions. Read the sentence and choose the correct option.

The investigation report of Special Counsel Robert Mueller is (A) scandal  to end the (B) flow around Russian
(C) unlikely in the 2016 U.S.

Correct Option - 3

BAC1.
ACB2.
CAB3.
BCA4.
No Replacement Required5.

Que. 124 In the given sentence, three words have been given in bold. These words may or may not be in
their correct positions. Read the sentence and choose the correct option.

Water meters for domestic users in developed countries have been (A) penalise, because they can (B) greater
large families which have (C) controversial needs.

Correct Option - 1

CAB1.
BCA2.
ACB3.
CBA4.
No Replacement required5.

Que. 125 Read the following passage and choose the correct options to fill in the blanks.
Already, technology has ...1...... a significant impact on warfare since the Iraq war began in 2001.

Unmanned drones provide sustained surveillance and swift attacks on targets, and small robots are used to disarm
improvised explosive devices. The military is currently funding research to produce more autonomous and self-



aware robots to diminish the need for human soldiers to risk .....2...... lives. Founder of Boston Dynamics, Marc
Raiber, released a video showing a terrifying six......3.....tall 320-lb. humanoid robot named Atlas, running freely
in the woods. The company, which was bought by Google in 2013 and receives grant money from the
Department of Defense, is working on .......4......an even more agile version.
The inherent dangers of such powerful technology have inspired several leaders in the scientific .....5.....to voice
concerns about Artificial Intelligence.
“Success in creating AI would be the biggest event in human history,” wrote Stephen Hawking in an op-ed,
which appeared in The Independent in 2014. “Unfortunately, it might also be the last, unless we learn how to
avoid the risks. In the near term, world militaries are considering autonomous-weapon systems that can choose
and eliminate targets.” Professor Hawking added in a 2014 interview with BBC, “humans, limited by slow
biological evolution, couldn’t .....6......and would be superseded by A.I.”

Pick the appropriate word to be filled in blank 1.

Correct Option - 3

has1.
have2.
had3.
having4.
None of the above5.

Que. 126 Pick the appropriate word to be filled in blank 2.

Correct Option - 1

their1.
his2.
your3.
our4.
None of the above5.

Que. 127 Pick the appropriate word to be filled in blank 3.

Correct Option - 2

Pound1.
Foot2.
Ounce3.
Feet4.
None of the above5.

Que. 128 Pick the appropriate word to be filled in blank 4.

destroying1.
sabotaging2.
disrupting3.



Correct Option - 4

developing 4.
None of the above5.

Que. 129 Pick the appropriate word to be filled in blank 5.

Correct Option - 1

community 1.
region2.
family3.
locality4.
None of the above5.

Que. 130 Pick the appropriate word to be filled in blank 6.

Correct Option - 5

construction1.
competition2.
capacity3.
capability4.
None of the above5.

Que. 131 Choose the correctly spelt word from among the following words.

Correct Option - 2

Concubenage1.
Choreographer2.
Astronout3.
Millenniium4.
Nonagenarean5.

Que. 132 Choose the correctly spelt word from among the following words.

Correct Option - 1

Omnipresent1.
Plagearism2.
Encyclopaidia3.
Misogameest4.
Spenister5.

Que. 133 Choose the correctly spelt word from among the following words.



Correct Option - 5

Punctelious1.
Provedential2.
Precident3.
Proscreption4.
Temperament5.

Que. 134 Choose the correctly spelt word from among the following words.

Correct Option - 3

Intellegible1.
Incomperable2.
Incidental3.
Neglegible4.
Noteceable5.

Que. 135 Choose the correctly spelt word from among the following words.

Correct Option - 4

Benificial1.
Confedent2.
Comtempteble3.
Ceremonious4.
Consederable5.

Que. 136 Directions: Fill in the blanks with suitable words:
After watching the world cup victory, all youngsters are __________ with cricket.

Correct Option - 1

Obsessed1.
Inebriated2.
Angry3.
Happy4.
neglected5.

Que. 137 Directions: Select the most appropriate word to fill in the blank.
She was ______ to have worked with some renowned scientists of the world.

favourable1.
charmed2.
fortunate3.
affluent4.



Correct Option - 3

objected5.

Que. 138 Directions: Select the most appropriate word to fill in the blank.
Adali Khal is such a ______ village in Garhwal that hardly any tourist can reach there.

Correct Option - 2

lost1.
remote2.
lonesome3.
dreaming4.
realistic5.

Que. 139 Select the most appropriate word to fill in the blank.
He once had a very frightening ______ with a wild bull.

Correct Option - 2

appointment1.
encounter2.
enterprise3.
commitment4.
judgement5.

Que. 140 Select the most appropriate word to fill in the blank.
During the elections political parties try to ______ their rivals in order to gain advantage.

Correct Option - 4

laud1.
covet2.
commend3.
vilify4.
composition5.

Que. 141 Rearrange the given sentences in a meaningful order.
A) India is a land of varied culture and thus different fashion trends are followed in different parts of

the country. 
B) Various kinds of fashions come in trend around the world every now and then.
C) People these days are very particular about staying in style and thus follow the fashion trends religiously. 
D) This particularly refers to clothing, hairstyle, footwear and various accessories. 
E) Fashion is something that is in vogue. 



Correct Option - 2

ABCDE1.
EDCBA2.
BDCEA3.
EDABC4.
ABCED5.

Que. 142 Directions: In the following question, sentences of a paragraph have been jumbled and have
been labelled as A, B, C, D and E. You are required to rearrange the jumbled sentences

accordingly by selecting the correct option.
A. Millions of lives are lost annually throughout the world due to road accidents, resulting in huge loss of finance
and resources for individuals as well as for the nation. 
B. Road Safety in today’s context is the most significant issue which relates to the safety of public on road.
C. There is an urgent need to make people more aware about road safety precautions and why they matter so
much.  
D. Every year governments throughout the world spend billions on the treatment and welfare of accident victims
and their rescue. 
E. Strict laws must also be implemented to enforce road safety norms.

Correct Option - 4

ABCDE1.
EDCAB2.
BACED3.
BADCE4.
BCADE5.

Que. 143 Rearrange the given sentences in a meaningful order.
A) People use drugs for many reasons: they want to feel good, stop feeling bad, or perform better in

school or at work, or they are curious because others are doing it and they want to fit in.
B) The last reason is very common among teens.
C) Drugs excite the parts of the brain that make you feel good. 
D) But after you take a drug for a while, the feel-good parts of your brain get used to it. 
E) Then you need to take more of the drug to get the same good feeling.

Correct Option - 2

DEACB1.
ABCDE2.
EDCBA3.
ABDCE4.
ABCED5.

Que. 144 Rearrange the given sentences in a meaningful order.



A) Emerging infectious diseases are increasing, causing losses in both human and animal lives, as well as large
costs to society.
B) The climate-sensitive vector-borne diseases are likely to be emerging due to climate changes and
environmental changes, such as increased irrigation.
C) The human population is growing, requiring more space for food production, and needing more animals to
feed it. 
D) Many factors are contributing to disease emergence, including climate change, globalization and urbanization,
and most of these factors are to some extent caused by humans.
E) Pathogens may be more or less prone to emerging by themselves, and rapidly mutating viruses are more
common among the emerging pathogens. 

Correct Option - 2

ADBCE1.
CADEB2.
CABDE3.
EACDB4.
ABCDE5.

Que. 145 Rearrange the given sentences in a meaningful order.
A. There is no physical substance humans require more than freshwater: without water, we can only

survive a few hellish days.
B. Soils, microorganisms, and plant roots all play a role in filtering and recycling out pollutants with a price far
cheaper than building a water filtration plant.
C. Healthy freshwater ecosystems—watersheds, wetlands, and forests—naturally clean pollution and toxins from
water. 
D. While pollution and overuse have threatened many of the world’s drinking water sources, nature has an old-
fashioned solution, at least, to pollution.
E. According to research, the more biodiverse the ecosystem, the faster and more efficiently water is purified.

Correct Option - 3

ABCDE1.
DBCEA2.
ADCBE3.
EABDC4.
BCEDA5.

Que. 146 Read the following passage and answer the questions given below.
Only for dolphins and chimps do some scientists still argue that there is sufficient evidence for their

overall cognitive superiority to the extent that these species should be set apart from other nonhuman animals. In
the case of dolphins, their arguments are usually two-fold: bottlenose dolphins (and other cetacean species) have
very large and complex brains, recognize themselves in the mirror, use tools, have ‘names', display some
linguistic competences, and have self-awareness. Due to these observations, some scientists even demand that
dolphins no longer be kept in captivity. These arguments have a political impact and countries like India have
decided that ‘cetaceans should be ________ “nonhuman persons” and as such should have their own specific
rights'. But how strong is the scientific evidence for the cognitive exceptionality of dolphins? Manger and
colleagues extensively reanalyzed the cortical and hippocampal neuroanatomy of cetacea and came to radically



different conclusions. In the last issue of Neuroscience, Manger also reviews the dolphin cognition literature and
draws a quite sobering conclusion. But is his critique justified or does he throw the baby out with the
bathwater?
Dolphins live in a primarily acoustic world and use a variety of auditory signals for communication. They use
learned vocal labels to address each other, exchange signature whistles when meeting, and use their learned
whistles in matching interactions in which an individual responds to a whistle of a conspecific by emitting the
same whistle type. Studies in captivity have even revealed a certain understanding of syntactic properties in
sequences of sounds and gestures. Especially Louis Herman made an impressive scientific lifetime achievement
in demonstrating that dolphins understand referential pointing, report the presence or absence of objects, and
understand imperative ‘sentences' delivered in either acoustic or gestural format. These ‘sentences' consisted of
units that represented objects, actions, agents, and modifiers. They could be combined by rules such that
hundreds of different complex commands could be produced. Dolphins also seem to understand the identity of
humans and their TV representations since they also followed gestures from video displays, although with some
constraints.
These cognitive achievements are certainly highly impressive. But, as pointed out by Manger, similar results
could also be obtained from other species. Both chimpanzees and bonobos can learn and combine large numbers
of symbols or gestures that stand for objects and actions. Chimpanzees produce functionally referential
vocalizations which encode sufficient information about objects to allow conspecifics to respond accordingly. 
Also, a California sea lion quickly learned equivalence classes between symbols as a possible means for
referential communication. Some dogs can not only learn the names of more than 200 different toys but also
acquire new names by exclusion such that the dog attends to a new toy when hearing a novel word. However,
there is no evidence that dogs acquire syntactic rules. Also, some parrots label and address conspecifics and the
receivers primarily respond to calls that address themselves. This is similar to the usage of whistles by dolphins
to address other individuals. Alex, possibly the most famous parrot ever, not only learned English words to
referentially label many objects and their colours but also used short phrases and understood that the same object
could be defined by material, colour, shape, and object name. These data demonstrate that the ability to learn and
to combine a large number of referential symbols and use them with a small set of syntactic rules is within the
reach of several nonhuman animals from the avian and mammalian classes. Bottlenose dolphins are not alone.

Which of the following is true according to the passage?

Correct Option - 3

Bottlenose dolphin is the only species that has the ability to learn and to combine a large number of
referential symbols.

1.

Bonobos cannot learn and combine large numbers of symbols or gestures that stand for objects and
actions.

2.

Scientists say that dolphins and chimps should be set apart from other nonhuman animals.3.
Unlike other cetacean species, bottlenose dolphins cannot recognise their reflection in the mirror.4.
Scientists still argue that dolphins should not be released from captivity.5.

Que. 147 What do you mean by the idiom, "To throw the baby out with the bathwater"?

Correct Option - 3

To run after an impossible dream.1.
To stop trying to do something and admit defeat.2.
To discard an important thing while getting rid of others that are considered worthless.3.
To fight or supress a strong urge or desire.4.
To clean the house along with the baby.5.



Que. 148 Which of the following is NOT true according to the passage?

Correct Option - 2

Dolphins live in a primarily acoustic world and use a variety of auditory signals for communication1.
Some dogs can not even learn the names of 200 different toys.2.
Chimpanzees produce functionally referential vocalizations which encode sufficient information about
objects to allow conspecifics to respond accordingly.

3.

Louis Herman made an impressive scientific lifetime achievement in demonstrating that dolphins
understand referential pointing.

4.

None of these5.

Que. 149 According to the passage, bottlenose dolphins cannot -

Correct Option - 5

Recognize themselves in the mirror1.
Use tools2.
Display some linguistic competences3.
Have self-awareness4.
None of the above5.

Que. 150 Fill in the blank with a suitable option.
"Cetaceans should be ________ “nonhuman persons” and as such should have their own specific

rights"

Correct Option - 1

Considered1.
Watched2.
Worshipped3.
Prayed4.
Scorned5.

Que. 151 "Bottlenose dolphins are not alone", what does the author mean by this sentence?

Correct Option - 4

Only for dolphins do some scientists still argue that there is sufficient evidence for their overall cognitive
superiority.

1.

Dolphins together live in a primarily acoustic world and use a variety of auditory signals for
communication.

2.

Dolphins are kept in captivity along with other animal species.3.
Apart from bottlenose dolphins, the ability to learn and to combine a large number of referential symbols
and use them with a small set of syntactic rules is within the reach of several nonhuman animals from the
avian and mammalian classes.

4.

All of the above5.



Que. 152  Alex, a parrot mentioned in the passage, understands that the same object could be defined by-

Correct Option - 5

material1.
colour2.
shape3.
object name4.
All of the above5.

Que. 153 Which of the following words is the most opposite in meaning to the word "imperative" as given in
the passage?

Correct Option - 4

Vital1.
Crucial2.
Important3.
Optional4.
Peremptory5.

Que. 154 Which of the following words comes the closest in meaning to the word "cognitive" as given in the
passage?

Correct Option - 1

Related to intellectual processes.1.
Related to physical processes.2.
Related to spiritual processes.3.
Related to economical processes.4.
Related to psychological processes.5.

Que. 155 Which of the following words comes the closest in meaning to the word "justified" as given in the
passage?

Correct Option - 1

To show something to be just or right.1.
To act in a disrespectful manner2.
To talk in a boastful manner.3.
To be irrational.4.
To be condescending5.

Que. 156 Which of these sentences is/are grammatically correct?
A) I was reading Edgar Allan Poe last night.

B) I was read Edgar Allan Poe last night.



C) I reading Edgar Allan Poe last night.

Correct Option - 3

A and B1.
A and C2.
Only A3.
only C4.
None of these5.

Que. 157 Which of these sentences is/are grammatically correct?
A) I shall buy a laptop after I receive my first salary.

B) I shall be buy a laptop after I receive my first salary.
C) I be buying a laptop after I receive my first salary  

Correct Option - 4

A,B and C1.
A and B 2.
only B3.
only A4.
None of these5.

Que. 158 Which of these question is/are grammatically correct?
A) Hardly the minister began his speech than the crowd pelted stones at him. 

B) Hardly had the minister began his speech than the crowd pelted stones at him.
C) Hardly had the minister begun his speech when the crowd pelted stones at him. 

Correct Option - 3

A and C1.
Only B2.
C only 3.
A and B4.
None of these5.

Que. 159 Which of these sentences is/are grammatically correct?
A) The library was constructed in record time and opened for the public. 

B) The library was constructing in record time and opened for the public. 
C) The library was constructed in record time and open for the public. 

Only A1.
Only B2.
Only C3.
A, B and C4.



Correct Option - 1

None of these5.

Que. 160 Which of these sentences is/are grammatically correct?
A) He gone out to have food almost an hour ago but hasn't returned yet.

B) He went out to have food almost an hour ago but hasn't returned yet.
C) He went out to have food almost a hour ago but hasn't returned yet.

Correct Option - 1

Only B1.
A and C2.
B and C3.
Only C4.
None of these5.

Que. 161 The full form of “FORTRAN” is________.

Correct Option - 3

File Translation1.
Format Translation2.
Formula Translation3.
Format Transformation4.
None of these5.

Que. 162 The decimal equivalent of the binary number 11100001111 is

Correct Option - 2

18061.
18072.
28063.
All of the above4.
None of the above5.

Que. 163 The octal equivalent of the binary number (11010101110001111)2 is which of the following
mentioned options?

3265171.
3258162.
3256173.
3256474.
None of these5.



Correct Option - 3

Que. 164 Mac OS was introduced by

Correct Option - 3

IBM1.
Microsoft2.
Apple3.
Linux4.
Micromax5.

Que. 165 Which of the following is not an input device?

Correct Option - 4

scanner1.
mouse2.
keyboard3.
printer4.
None of these5.

Que. 166 Which of the following tabs contains commands to insert a watermark in an MS Word 2016
document?

Correct Option - 3

Page Layout1.
Page Background2.
Design3.
Page Setup4.
References5.

Que. 167 Which of the following is the shortcut key to close a currently open document?

Correct Option - 3

Ctrl + A1.
Ctrl + V2.
Ctrl + W3.
Ctrl + X4.
None of these5.

Que. 168 _________ is a self-replicating virus that does not alter files but resides in active memory and
duplicates itself. 



Correct Option - 4

Time Bomb1.
Trojan2.
Mellissa virus3.
Worm4.
Macro virus5.

Que. 169 _____ is not an output device?

Correct Option - 5

Monitors1.
Printers2.
Headphones3.
Projectors4.
Keyboard5.

Que. 170 Choose the web-browser among the following:

Correct Option - 4

MSN messenger1.
Yahoo messenger2.
Rediffbal.net3.
Netscape Navigator4.
None of these5.

Que. 171 HTML is used to?

Correct Option - 2

Make the Os of computer.1.
Write code for webpages2.
Networking3.
None of the above4.
Paint5.

Que. 172 What does URL stand for?

Uniform Reverse Location1.
Universal Resolution Location2.
Universal Resource Locator3.
Universal Re-Engineering Location4.
Uniform Resource Locator5.



Correct Option - 5

Que. 173 If you want to delete something from the right side of the cursor on a document, which among the
following shortcut keys may be used to perform this function in a computer?

Correct Option - 2

Backspace1.
Delete2.
Shift+Del3.
Ctrl+Esc4.
None of the above 5.

Que. 174 Which of the following is a Web browser?

Correct Option - 3

Paint1.
Power point2.
Fire fox3.
Word4.
All are web browsers5.

Que. 175 What is the full form of PROM from the following?

Correct Option - 1

Programmable Read Only Memory1.
Progressive Read Only Memory2.
Periodic Read Only Memory3.
Perfect Read Only Memory4.
Program Read-Only Memory5.

Que. 176 What is the full form of SLSI?

Correct Option - 4

Small-Large scale Integration1.
Simple-Large scale Integration2.
Sample-Large scale Integration3.
Super-Large scale Integration4.
None of the Above5.

Que. 177 Which key on the keyboard can be used to view slide show in PPT?

F11.



Correct Option - 3

F22.
F53.
F104.
None of these5.

Que. 178 Which of the following is true regarding to ROM?
(i) It is a volatile memory.

(ii) It is a non-volatile memory.
(iii) It is both a volatile and a non-volatile memory.

Correct Option - 2

Only (i)1.
Only (ii)2.
Only (i) & (ii)3.
All (i), (ii) & (iii)4.
None of the above5.

Que. 179 COBOL being a high level programming language was developed for what purpose?

Correct Option - 1

Business data processing applications1.
Designing plan for buildings2.
Maintaining the data of a firm3.
Teaching children in schools4.
None5.

Que. 180 MS-Word is an

Correct Option - 2

tabular data formatting software1.
Word processing software2.
presentation software3.
E-mail client4.
None of the above5.

Que. 181 In MS Excel, to insert a formula in a cell, we must begin the entry with an operator _______.

=1.
$2.
@3.
#4.



Correct Option - 1

None of the above5.

Que. 182 Which key should be pressed continuously while moving a column in MS Excel?

Correct Option - 4

Ctrl 1.
shift2.
alt3.
tab4.
space5.

Que. 183 Which of the following is not an operating system?

Correct Option - 2

DOS1.
Oracle2.
Linux3.
Windows4.
Android5.

Que. 184 In MS Paint, which extension is not supported?

Correct Option - 2

.jpeg1.

.doc2.

.gif3.

.png4.

Que. 185 Which of the following Input device is used to convert hard copy to soft copy?

Correct Option - 3

Light pen1.
Track Ball2.
Scanner3.
Digitizer4.
Microphone5.

Que. 186 Which among the following options is not a manufacturer of CPU?

AMD1.
Intel2.



Correct Option - 5

IBM3.
Texas Instruments4.
Nvidia5.

Que. 187 Which key deletes the character to the left of the cursor?

Correct Option - 3

Home1.
Delete2.
Backspace3.
End4.
None of the above5.

Que. 188 Which among the following software is not a product of Microsoft?

Correct Option - 1

Open office1.
Outlook2.
Access3.
Visual studio express4.
Windows5.

Que. 189 When a URL is entered like http://www.abcdefghij.com. What does the portion labeled http
represents?

Correct Option - 3

Host1.
Domain name2.
Protocol3.
Top-level domain4.
None of these5.

Que. 190 Task bar can be placed at_____

Correct Option - 3

Bottom of the screen only1.
Right side of the screen only2.
Any side of screen3.
Bottom and Top side of screen only4.
None of these5.



Que. 191 In MS word, insert footnote appears on ________ tab.

Correct Option - 3

Insert1.
Review2.
References3.
Layout4.
None of the above5.

Que. 192 Arrange the following according to their speed transmission rate in ascending order .

Correct Option - 1

Coaxial cable < Twisted pair cable < Optical fibre1.
Coaxial cable <​ Optical fibre < Twisted pair cable2.
​Optical fibre < coaxial cable < Twisted pair cable3.
electrical cable < coaxial cable < Twisted pair cable4.
​Optical fibre < coaxial cable < electric cable5.

Que. 193 The most common pointing input device is which among the following mentioned options?

Correct Option - 4

trackball1.
touchpad2.
touch screen3.
mouse4.
scanner5.

Que. 194 Octal number system has a base ________

Correct Option - 3

21.
42.
83.
104.
125.

Que. 195 Fifth-Generation languages are the ____.

Assembly languages1.
Machine languages2.
constraint based languages3.
High level language4.



Correct Option - 3

None of the above5.

Que. 196 Which kind of language translator converts the source code into machine language?

Correct Option - 2

Cascading1.
Compiler2.
COBOL3.
Disk Fragmenter4.
Device Driver5.

Que. 197 Which of the following is not an image or graphic file format?

Correct Option - 4

PNG1.
BMP2.
GIF3.
GUI4.
TIF5.

Que. 198 VGA is -

Correct Option - 1

Video Graphics Array1.
Visual Graphics Array2.
Volatile Graphics array3.
Video Graphics Adapter4.
None of these5.

Que. 199 198.2.2.1 IP address belongs to which IP class?

Correct Option - 3

Class A1.
Class B2.
Class C3.
Class D4.
Class E5.

Que. 200 The first generation computers had?

Vacuum tubes and magnetic drum1.



Correct Option - 1

Magnetic tape and transistors2.
ICs3.
All of the above4.
Vacuum tubes and transistors5.
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